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1. (10 points) The Coca-Cola bottling company has developed a new machine that they claim is much more
consistent when it fills cans of Coke. The standard deviation for the amount of Coke filled in their cans by their
older machines is estimated to be about 0.15 ounces. To determine if this new machine is better, the new
machine was used to fill 100 cans of Coke. The standard deviation of the amount of Coke in the cans from this
sample is 0.12 ounces. Use a 0.05 significance level to test the claim that the new machine is more consistent
than the old machine when it fills cans of Coke.

Teg—)f 5’7Lor‘}’

] p w0
! 3 ! R@,ec_ﬂffL&Q’@
H\ﬂ L oc=0.05 JF=n-l=leo-1>97 nN=Ww0 =012
H ' T =045 ounces 0105 (use 160) a
i 4= D
0.,9

Hl ! [LO5 omels

. 2

= The shndacl et _ oo-DD(01%)
oF P nymber of o7 = T 05) 2
OF gog/q N 01// cans
Filled by the mv

v

t5

Mot ching \
Q"VO! lue /W

areer A Reject Ho!

EV/VQ/)C‘(/ 7(/9273\545 {i ho?
By new’ ﬁ?c\lc N

/ I 7 more Ccmfzj\/z/ﬂ’ :)’l;a;;/Z’j(
=~ lemﬁ - , ol mathme whay ¥ 1

0’0‘?309@35‘554&,(7{? Gund il Cote

Vos!

= P(# <6330
= 0,00)0993566

p—valy

1


15

Date: 4/24/2025


Extra Credit
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Li(l,2.2 points) Suppose you are performing the following hypothesis test:

Hy: o0=18
i: &%£18
You take a sample of size 75, and calculate a sample standard deviation of 16.7.
a) Calculate the test Statistic 2 2
= a - 75— /Kl 7
n=7s y=02 27 (755) (l.7)

= nE - 14369709877
s= K7 /

b) Find the P-valye of the test statistic

p-valne = &P V< b369707877)
> YV =

{0. 9041973714 )

2 2+
63.69709877 i
bec. sc ¢ (14,7 < 18)

¢) In this situation would you reject # 0 ? Why or why not?
,ﬂw\/m = 0441973716 =5 Db g el Ml
£5 bzy

2. (3 points) What is the meaning of the significance leve] when performing a hypothesis test at the 0.07
significance level?
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3. (2 points) Describe what a type I error is.
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